
                     Тема:    Свойства логарифмов

                                                          
logc (ab )=log ca+logcb ;

                                      
logc ( ab )= logca−logcb ;

                                      loga b
c
= c loga b ;

                                      
log

ac
b=
1
c
logab

;

Вычислить значения выражений:

1. log618 + log62

2. log42 + log432

3. log91/3 + log927

4. lg20 + lg50

5. log672 – log62

6. lg500 – lg5

7. log5400 – log580

8. log812 – log815 + log820

9. log915 + log918 – log910

10.  log5 253

11.  log7 3432

12.
  log4 645


